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Quiz # 6
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a) C and D repel, B and D repel



b) C and D attract, B and D attract

c) C and D repel, B and D attract

d) C and D attract, B and D repel

The figure below shows three arrangements of an electron and two protons. Rank the arrangements according to the magnitude of the net electrostatic force on the electron due to the protons, largest first.
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A) a, b, c
B) a, c, b

C) b, a, c

D) b, c, a

A charged particle, labeled A, is located at the midpoint between two other charged particles, labeled B and C.  The sign of the charges on all three particles is the same.  When particle A is released, it starts moving toward B.  What can be determined from this behavior?
a)  The charge on A is larger than the charge on B.

b)  The charge on A is larger than the charge on C.

c)  The charge on C is larger than the charge on B.
d)  The charge on B is larger than the charge on A.

e)  The charge on B is larger than the charge on C.

Below you see five charges evenly spaced (same distance from each other) with the central charge not known. Rank the situations according to the magnitude of the force on the central charge, greatest first.

a) 1, 2, 3, 4

b) 2, 3, 4, 1

c) 3, 1, 2, 4
d) 2, 1, 3, 4
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A) a and b tie, then c

B) b and c tie, then a
C) a and c tie, then b

D) a, b, and c tie
